
Unit 3 

 

1. Make noun + verb or verb + noun/adjective collocations (a + b or b + a/c) typical of clinical 

    geneticist from the word banks below. 

  e.g. suffer from a disease; be a carrier etc. 

 

2. Make adjective + noun collocations (c + a) typical of clinical geneticist from the word banks 

    below. 

  e.g. pre-natal diagnosis etc. 

 

3. Make typical collocations using the word banks a, b, and c below. 

  e.g. suffer from an inherited disease etc. 

 

(a) 

abnormality abortion anaemia cell chromosome        condition 

daughter diagnosis disease dystrophy fibrosis        fluid         gene 

geneticist haemophilia probe sickle  son      syndrome        tissue 

 

(b) 

account for       be cause/be caused by detect identify inherit 

interfere with pass on  suffer from  terminate         

 

(c) 

abnormal  accidental amniotic clinical cystic dominant Down’s fetal 

genetic infectious inherited internal muscular pre-natal pregnancy 

recessive single-gene Turner’s X-linked 

 


